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M| x2+5x+6 |@| x*4+4x—-5 [®|x2—10x+21
4| 242—5x—3 |®|3x2+5x—12 |©) | 4x2—-3x—7
@ |4x%—16x2+15 [ @) |242+25x+12 | @) | 6x2+T7x—5
(10| 1242 —23x—24 |(11)|1022—19x—15 [(12)| 30x%2—11x+1
(13)| 21x%24+25x—4 |(14)| 12x%+4x—5 |[(15]|18x2— 5bx—28
(16)| 15x%2—2x—1 |[A7)| 8x2+42x+27 [(18)] 12x2—T71x—6
(19)|15x2—73x— 10 |(20)| 42x2+4143x—14

eD| (3x—4)x+3) || (@2x—1)3x+5) |@| (3x+4)Tx—1)
29| (22 + 9 4x+3) |@)| (x+5)(x—1) |@0)](2x+ 1) (x+12)
@] (6x+5)(2x—1) |29] @lx—202x+7) |@9] (x+1)4x—T)
BO| (x—=3)x—7) [BD]|(2x—3)2x—5) |B2)| (5x+ 3)(2x—5)
33| (6x— 1)5x—1) | 34| (12x+1)(x—6) |35)] (22— 7)(9x +4)
@B6) | (15x+2)(x—5) [BD]| (x+2)x+3) |B8|(3x—1)bx+1)
39| (2x+ 1)x—3) |@0)|(3x— 8)(4x+3)

(41) p=3E1S 42) r=-1,2

(43) L] (44) =53

(45) = OEH (46) p= 12V

(47) =T (48) R

(49) . (50) = 0L




